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1B B B EETIRIE 48 58 68 718 8A 98 108 118 128 18 28 38
[E3E] — — TH14H 5H12H 6H2H THTH SH4H 9F1H 10868 11H108 12818 1H5H 2H2H 3H1H
BEERIRGH — — 4H26H 55308 68218 78268 8H218 9H28H 108238 | 118248 | 12H218H 1H258 25268 3A18H
e = ms/m 0.1 33 32 32 32 32 32 32 31 30 36 34 35
e T ms/m 0.1 84 81 75 78 62 78 74 74 74 75 79 78

N £ mg/0 0.1 7 17 15 13 17 18 15 13 13 16 14 17
Bl A T& mg/9 0.1 130 130 100 120 79 120 94 92 100 97 72 90
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[ ER R VR AR =% mg/Q 0.1 TOLL R % 1.2 20
TILEILIKER me/Q 0.0005] BHizhBLCE K|l  FiRH T
£KER mg/Q 0.0005| 0.0005LAF [l FiRH T
PN mg/Q 0.001 0.03LLF X[ FigH T
[ mg/Q 0.001 0.01LLF X[ FigH T
iz 0L mg/Q 0.005 0.05LAF X[ FigH T
Atk mg/Q 0.001 0.01LATF X 0.002 THH
ED mg/2 0.1 BaEhance X FTHRH TigH
ROE{EETT=IL me/Q 0.0005[ BHEhENIE S|  FiRH TR
k)pooTFLY mg/2 0.003 001LAF X T THH
ThayoaIFLY mg/2 0.001 001U K| T THH
CHOooreay mg/Q 0.002 0.02LLF *| FigH T
migfb ik mg/Q 0.0002] 0.002LLF *| FigH TR
1, 2—>900I4> mg/Q 0.0004| 0.004LLF *| T FigH
1, 1—->400xFLY mg/Q 0.002 O.1LLF Sf  FikH TR
1, 2—>4/00IFLY mg/Q 0.004]  0.04LLF | FigH TR
1,1, 1—k)yoaxsy mg/2 0.1 1T S FRH TEH
1,1, 2—k)yoaIay mg/Q 0.0006] 0.006LLF | FiH FigH
1, 3—>yyan7aoRy mg/Q 0.0002] 0.002LLF *| FigH TiEH
FISL mg/9 0.0006] 0.006LLF | FiH Tia
DA mg/Q 0.0003] 0.003LLF | FigH TiEH
FARUAILT mg/Q 0.002] 0.02LLF | FigH TiEH
A mg/Q 0.001 0.01LLF *| FigH TiEH
LY mg/9 0.001 0.01LLF *| FigH T
14—AFHY mg/Q 0.005] 0.05LLF | FigH TiEH
IF5FRUZDEED mg/2 0.1 1UT X[ TR T
SORRUZDILED mg/2 0.08 0.8LLF X[ FHH T
HJO0IFLY mg/Q 0.0002] 0.002LLF X[ FigH TiEH
BOD mg/Q 1.0 20T X[ FRH T
coD mg/Q 1.0 20T X[ FRH T
SS mg/Q 1.0 40LLTF X 5.4 1.4
KIEE B &/m 300[ 3000LLTF x| FiRH THEH
BIVAVEN) I LEES mg/2 0.1 10LLF 3% 1.3 2.1
AR VEBRE pg-TEQ/Q 1T 0.000057 0.00058 FRE | 9A1H | HIERERREE | 108188 |
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